H B AR & 2% = 21518
L Y8

¥ *4

1. SA RIIBEBITIE
1mm EABISLE -

2. BBEEEST R LMk -

3. RERKSTIEEEREER
RLVEBE -

4. MEQMILE@SS 2 EEE
RESS - WEIILEREE
E2TIENEA -

FHERDOHIRE
X
[ e ;
I If PUE. I
I I' \"J'
[| N ‘sa/sp mmewes| | /
24| AVA B 2
I f\\ N
If = ;f);/ N
|/ f_,,x\ z
/ ..r"'// .f"’/'}‘\k\'“x. \
=== HH‘H“‘%._.,__
BOR{TIE

— i
o4 BT K , e g
o B
B
T
S LR
3L
({130 5
PIREEL
RN A
SA 25 X 40
| | I
3 N & 17 12
I
SA
SD

* LISHFEEEYEMEENERDRE

— 1 NC
|
xR E
I
Tl P % | RAEBIWH
B R NC | 57 2 il O
3 | EARER oN| EEHEEE
R
S BfHERE
AR

*S RSARFEt R~ A



BB EESEAR

ExiNm): $EhiE

Eo(Nm): BESDEER

ErliNm): #SHER

Erc(Nm): B/\IFEBEERS

F(N): $#5€7]=0.00785 Pd*

Fm(N): SRKERE=1.2ET/S (#iE)
g(m/s®): EINEE

R

g (red). ZFlEEMBAERNEAE
¢ (rad/s): FEiEE

We(kg): B ERIE

C(Hr) B/ iRy 52 U8

e dimm): RELAE
o him): BE

e HM: BiEHEFRE-=-2.5
* mikg): EBEWWERS

o Plbar): fEBIEN
o R(m): ¥£E

e Rs(m): HEEEHEZIEMMDINBYIERE

e Sim): HEE®HETE

e TINm); BEEHHEN
o tlsec): BiERFR
s Vim/s): @RiEE

o KWikw): BEHFHEINR

H B #% & 2% & A &0 B
(1) BHINDHESEDSVDER | (2) ;ST MIN0HEEDAVDRE (3) BEEE
[H
eralelNe | i
U N -
2
$heE Ex HXY mxVe mxgxh
= 2
T{ERER Eo FxS 0 MXgxs
SHER Er Ex+Ebp Ex+Eo Ex+Eo
B/IRGEEER Ewc ErxC ErxC ErxC
exkr 2 X Er
BYERE We — m —
BEEEEEE V - - v 2xgxh
[Spr =z SC2540 ; SD3650 SC1415-1 ; SD4250 SC2580-1 ; SA3660
(4) FBiEERENIRE (5) FliEZBE (6) eds@ R NE
w %‘ %"?L
% % 7 -
77 !
e
Bhke Ex m:" 0.25XmXV12
TiEaEm Es 1UUDXKW}GHMXSTXS MXSXSinBXg {'II'::;:ESI
SHEE Er Ex+Eo Ex+En Exk+Eb
B/FEEER Erc ErxC ErxC ErxC
e x Er e xEr e % Er
B ERE We — 7 v v
(VTxRs)
BRERRE Vv - V' 2gxLxSinf RT

o5&

SC3660-2 ; SD4275

SC2540-1 ; SD4275

SC3660-3 ; SD4250




) SA0806
MBX1.0P 458 B=11 o
(C=12.8) o
|
I
d -._a ©
i3 8
5 a3 6 | 6
" S0 .

_ SA0806-SN
MBX1.0P %8 B=11 -
C=12.80) / o
M ]
" H :
| J
b o
40.6 B |

SA0806-1 6 2 0.5 2.0 8800 -10~+80
SA0806-2 6 2 2.0 1.0 8800 -10~+80
SA0806-3 6 2 6.0 0.5 8800 -10~+80
SA0806-SN 6 3 6.0 0.3~2.5 7000 -10~+80
. SA1005
M10X1.0P 48 B=12.7
_ C=14.5) / 2
1
——H & .
3 S
4.8 229 5.6
= 38.7 -
SRBRARNER BABHNER @ SEEREE S/)\WEREGER
Nm We(kg) m/s
SA1005-1 5 3 1 3 10800 -10~+80
SA1005-2 5 3 3 1.5 10800 -10~+80
SA1005-3 5 3 7 0.8 10800 -10~+80
. SA1007s . SA1007-SN
& B=12.7 13 M10X1.0P $1@ B=12.7 3, M10X1.0P
4 (C=14.5) s (C=14.5) /
| |
| L = |
fis) / =) = s
@ 3 39 3 38 [
= = |
86 |7 47 i 47
I 62.6 dl

BRBRARNEER SABUEER
Nm We(kg)
SA1007S 7 6 12 0.3~3.5 12400 -10~+80
SA1007-SN 7 6 12 0.3~3.5 12400 -10~+80




. SA1008
M10X1.0P #i% B=12.7
(C=14.5)

[) '_/
|
]

=) i ©

sl s 8

|5 38 |8 |. 6

SA1008-1 8 4 2 3.0 15200 -10~+80
SA1008-2 8 4 4 1.5 15200 -10~+80
SA1008-3 8 4 9 0.8 15200 -10~+80
. SA1210S
$1% B=14 4 M12X1.0P

4 \_\EC= 16) -/

210.3
IS
o
(9]

8.4 | 10 50

178 BARAROMER BARYER | SSHEEEE | S)BEROER EREE

mm Nm We(kg) m/s Nm °C
SA1210S 10 12 ee 0.3~4.0 22500 -10~+80
_) SA1412S ) SA1412-SN
1% B=19 5, M14X1.5P ¥8 B=19 M14X1,5P 5
S N?\:ELS] | / 5 m=91.§y / m
ol ] [ ]
af
/ — I-J i
4 58 4 58
s iy P S (3 (8 67 = FE- 4 67 i
80

FARARYER BABNER | RSEREE | 5/)\EREEEER

SA1412S 1 20 40 0.3-5.0 33000 -10~+80
SA1412-SN 12 20 40 0.3~5.0 33000 -10~+80




k 3:#\ | LEIE X 4(lj | jﬂN
3 o= 7 8B
|
8
=6 A”‘ B

ABRYER
— - MBX1,0P 58 B=11 o

) SA0806-AN Tl N

| r

. = )
3 2
L 40.6 B

‘ﬁmaxmﬂ%l BABENER ﬁ&ﬂﬂﬁﬁt‘ﬁmﬁmﬂﬁl

Nm We(kg) m/s Nm
SA0806-AN 6 3 6.0 0.3~2.5 7000 -10~+80

. SA1007-AN

8 B=12.7 3. M10X1.0P
@ (C=14.5) /

ﬁﬂﬁxﬂ&ﬁiﬁ‘él‘ DABNER SSEREE ‘ﬂfj‘iﬂfﬂﬁiﬂﬁél

Nm We(kg) m/s Nm
SA1007-AN 7 | 6 | 12 0.3~3.5 12400 -10~+80
. SA1412-AN
$9i8 B=19 M14X1.5P __|5,_
s [G=E1.E§V /
r—'_h_
‘ 4 - 58
. 12 67

BARARUER DARNER  ESEREE | S/)HREGER

Nm We(kg) m/s Nm
SA1412-AN 12 20 40 0.3~5.0 33000 -10~+80




E 7 5 LI 45 ¥ R I

T &

ENRIEcI RS ETE
45 %198 y \
_ - - J f ]
(] + W s
EAIEIEIRE x —
ZIER] g%

- EFAMF
[ =y 18 4% iS5
EEZRIS BER RS
1 ﬁ\ﬁ SA2020
. Scos8 | SA0806 . SC20 . tﬁl SA2050
W SD2016
11 15 28 38
M10X1,0P M25X1.5F
ﬁ“\‘\ m " SA2525
8C10 | ‘ T SA1008 . 8Ca5 SD2525
127 17 4
M12X1.0P
. sc12 ;;3 “ Ei € SA1210 ./sCasL ggﬁgﬂg
14 20 BE =
M14X1.5F MIBX1.5F
B SA1415 ' SA3660
_sc14 2 SD1410 ./ SC36 /AR SD3650




